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SN FEAYD
HE: MYUNE 25 Y APRE MHIA S (SYoHSSL/UY
Sl MRS (S5 &)
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES oH Ol Ak O Blusz
=28 4y 2 200,000% 122 2,400
®I123 4,800
Apt W523 L AHUAEE S 1,380
SUHNBUE L NESRXBS S 5,000
203 YR=X| 500 1,000 A500
03 AlZ =TTy 500 1,000 A500
SHMNRINETSRE A28 HE S 500
206 T2 3,000 13,000 0
NIRET 13,000 13,000 0
2/ Y, 2B ALE ] 13,000
401 NEHIYLS ] 1,000,000 800,000 200,000
01 Al&| 1,000,000 800,000 200,000
SHM ANUEIAL 2HE Y H| 1,000,000
254 22 50,000 50,000 0
401 AlHIL 20| 50,000 0 50,000
01 Al&| 50,000 0 50,000
254 MSHY N 50,000
ESIE-PIIE) 1,995,946 2,174,620 A178,674
= 1,609,636
Al 386,310
403 RHEISHH S X201 1,995,946 2,174,620 A178,674
= 1,609,636
Al 386,310
01 RXISHAX= LS 1,995,946 2,174,620 A 178,674
ESE:5] 1,995,946
= 1,609,636
Al 386,310
zg(Xd) 306,358 104,650 201,708
= 235,655
Al 70,703
403 XX SHHIS KHZ 0/ & 306,358 104,650 201,708
= 235,655
Al 70,703
01 XEXISHAX= 2% 306,358 104,650 201,708
TAE METHN =2PEY 230,516
=2 177,320
Al 53, 196
xg 75,842
= 58,335
Al 17,507
MY NBIABE(HE) 362,258 180,695 181,563
= 134,560
Al 227,698




SN EEAYD
HE: AN 25 L MRS NUIA SH(SHSSA/YAY - ME
Sel: MEXRSH (o He
_ _ _ N E
A -3 -H2A(SH) - HEAMY - BES Ol & @Egj Hlws2
101 QI244| 350,818 171,387 179,431
= 127,700
Al 223,118
04 JIAH2RIELS 350,818 171,387 179,431
CA=T2E 80,044
= 48,030
Al 32,014
200 & A 191,226
= 31,937
Al 159,289
el ol 26,516
= 15,911
Al 10,605
XA 26,516
= 15,911
Al 10,605
z2oy 26,516
= 15,911
Al 10,605
201 Yere | 5,104 4,056 1,048
= 3,060
Al 2,044
01 AtR2teltl 5,104 4,056 1,048
TA=XZRR(IE S) 1,914
= 1,148
Al 766
EHAOHIE S) 1,276
= 766
Al 510
ZME (TS S) 638
= 382
Al 256
ZLUXTARRF(ME S) 638
= 382
Al 256
F2otol(IE ) 638
= 382
Al 256
202 01 6,336 5,252 1,084
= 3,800
Al 2,536
01 =01l 6,336 5,252 1,084
SA=XIZel (RS 2,388
= 1,433
Al 955
= &OHRSY) 1,560
= 936
Al 624
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= W

= W
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= W

308 AXIEHSOIA 361,791 554,952 193,161

301,461
60,330

=

01 XM EXS 361,791 554,952 A 193,161
2SN 361,791

301,461
60,330

= W

ASEHIOIQHA &S 11,139 15,540 A4,401

8,460
2,679

= W

308 AXIEHSOIA 11,139 15,540 A4,401

8,460
2,679

=

= 11,139 15,540 A4,401
= 11,139

= 8,460
Al 2,679

FZYu=E 01258 25,829 35,337 A9,508
20,330
5,499

= W

403 A XIEHHSXH=01E 25,829 35,337 29,508
20,330
5,499

= W

01 TUXIEMAZE = 25,829 35,337 /9,508

LS MaDIEE X4 25,829
= 20,330
Al 5,499

MEHH WS 2cHAlZE EX - =& 266,840 0 266,840
186,788
80,052

= W

401 Al HI S HH 266,840 0 266,840

186,788
80,052

= W

01 Al&HI 266,840 0 266,840
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SN REAYD
Ha: NN 25 U N2 NHIA SHH(SYHSSA/YY - AE
Sl AR THOH X (S5 &)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & e HRE2
A 21,174
04 JIVH22HSES 35,290 28,450 6,840
AT DR (A EE 2 0 YA SHH) 35,290
= 14,116
Al 21,174
201 Yereo| 9,000 39,500 230,500
= 3,600
Al 5,400
01 At 9,000 39,500 30,500
NEEAVETEEE) 3,000
= 1,200
Al 1,800
AHEERI OF 2 (R BH R ) 1,000
= 400
Al 600
AEY IR (DSZ ) 3,000
= 1,200
Al 1,800
MEXARIY SYXY £Z 200,002 10 2,000
= 800
Al 1,200
202 01t 4,900 3,000 1,900
= 1,960
Al 2,940
01 =Uoit] 4,900 3,000 1,900
AT (X SHESH) 4,900
= 1,960
Al 2,940
401 AEHI2L S 518,000 509,000 9,000
= 207,200
Al 310,800
01 Al&t] 518,000 509,000 9,000
SOIAASIHE SRS 5,000,008 %2H A 10,000
=2 4,000
Al 6,000
NEELEIEN D 160,000, 0002 +37§ £ 480,000
= 192,000
Al 283,000
LEDRZBH(ROI2&(0])  14,000,000% 204 4 28,000
= 11,200
Al 16,800
RN ETONED 949,320 733,401 215,919
= 654,705
Al 294,615
308 X+XIEHHIS O & 646,078 490,564 55,514
= 445,572
Al 200,506




FHM: FEAHY
FHE: MEXE Es L MRS MHIA S (sSEoidsa/d - AE
Sl AHE THOH &K (&9 ®M
_ ) _ pofEN
A -3 -H2A(SH) - HEAMY - BES (il & OH bﬂ/‘\_“’” Hlw &2
01 MXEHINEEXLS 646,078 490,564 155,514
A= 2RI CH 24 646,078
= 445,572
Al 200,506
403 A XIEHHSKH=01H 303,242 242,837 60,405
= 209, 133
Al 94,109
01 MXSHMA2E = 303,242 242,837 60,405
A2 EEXICH 24 303,242
= 209, 133
Al 94,109
L AE(XIR) 884,526 690,850 193,676
= 836,715
Al 47,811
308 XXISHHSOIA 908 935 N7
= 860
Al 48
01 HXHHBLdEXS 908 935 N7
2 BoRlY ¢ 908
= 860
Al 48
403 A XIEHSXE01H 883,618 689,915 193,703
= 835,855
Al 47,763
01 XM= EE 883,618 689,915 193,703
AT AA 883,618
& 835,855
Al 47,763
AEEARS (R E) 1,000,000 0 1,000,000
= 700,000
Al 300,000
401 AlZHIZ S 1,000,000 0 1,000,000
= 700,000
Al 300,000
01 Al&HI 1,000,000 0 1,000,000
oHot e =4 1,000,000
= 700,000
Al 300,000
AHALS 1,244,212 1,000,499 243,713
= 1,102,466
Al 141,746
308 XXISHHE0IA 18,922 0 18,922
= 16,766
Al 2,156
01 MXEHINELS 18,922 0 18,922




SN FEAYD
HE: MYUNE 25 U MRS NUIA HH(STHSSA/YY - AE)
Sl ARITHG

AFRITH B 2 I (o He
- _ _ NUE &
S EHB .S (BH) - HRAIY - B2 0 AF oA e HDZS2
AFEE A 18,922
= 16,766
Al 2,156
403 KX SHSIHZ0|H 1,225,290 1,000,499 224,791
= 1,085,700
Al 139,590
01 RXSHHR=LE 1,225,290 1,000,499 224,791
AFEE AR 1,225,290
= 1,085,700
Al 139,590
A DR (HE) 481,016 0 481,016
= 336,711
Al 144,305
401 Al&ZHI 220 481,016 0 481,016
= 336,711
Al 144,305
01 Al&H 481,016 0 481,016
At e 481,016
= 336,711
Al 144,305
A DR/ (NE) 670,841 0 670,841
= 594,416
Al 76,425
308 XXl £t SOI & 24,787 0 24,787
= 21,963
Al 2,824
01 HXSHBALZES 24,787 0 24,787
Atgtg FEA R 24,787
= 21,963
Al 2,824
403 X SHH S K20l & 646,054 0 646,054
= 572,453
Al 73,601
01 XtXISAREE =X 646,054 0 646,054
Atgtgd AR 646,054
= 572,453
Al 73,601
WH=E? 2DHSLLH As 2,692,000 0 2,692,000
= 2,692,000
403 KX SHSIHZ0IH 2,692,000 0 2,692,000
= 2,692,000
01 XtXISHH A2 2 X 2,692,000 0 2,692,000
SRUN(MSTH) =S (ZDHR2L S| A s
) 2,692,000
= 2,692,000
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FHM: FEAHY
FE: MEXE Es L MR35 MHIA SO (SSoidsa/d - AE)
Sl AHE THOH &K (&9 ®M
_ ) _ pofEN
SAN-ZH-SA(FA) - NFAY - BES (il & OH bﬂ/‘\_“’” Hlw &2
Al 511
02 3323l 1,800 0 1,800
MY E I 2RI 1,800
= 1,800
206 M=l 232,711 486,740 A254,029
= 214,320
Al 18,391
01 =4l 232,711 486,740 A254,029
S M A F 223,559
= 209,744
Al 13,815
OIZZME =4 9,152
= 4,576
Al 4,576
403 A XIEHSKH201H 12,978 12,421 557
= 7,162
Al 5,816
02 SII1ZSOICHSHH & A HI 12,978 12,421 557
MEEMNS LM ALSE 12,978
= 7,162
Al 5,816
405 AHaHH S 102,210 1,500 100,710
= 51,105
Al 51,105
01 ML ESFHSHI 102,210 1,500 100,710
Ol Z2AE &l 102,210
= 51,105
Al 51,105
ArHHHNSEM(XR) 6,317,431 5,784,048 533,383
= 5,423,767
Al 893,664
308 AXIEHHSOIA 6,256,240 5,727,939 528,301
= 5,376,692
Al 879,548
01 UHXNSHHBLEES 6,256,240 5,727,939 528,301
AMEEMHS YA 6,256,240
= 5,376,692
Al 879,548
403 A XIEHHSXH=01H 61,191 56,109 5,082
= 47,075
Al 14,116
01 MXSHMA2E = 61,191 56,109 5,082
st Holls Al 61,191
= 47,075
Al 14,116
MBI AEIA 20X (HE) 17,286 25,755 A8,469




SN ZEMYD
HE: MYUNY 25 U M2 MUIA SH(STHSSM/YY - ME)
Chelt AFRITHBHE (a2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
= 17,286
301 LEtEAZ 17,286 25,755 A\8,469
= 17,286
09 BU2L2IBAZ 17,286 25,755 A\8,469
AFSI A HIA S0 2 A 17,286
= 17,286
AMNSIAHIAZO0EXI & 92,714 277,245 A 184,531
= 92,714
308 XMXESHHSOIN 92,714 277,245 A 184,531
= 92,714
01 IXSHHABAMNBEEXS 92,714 277,245 A 184,531
AMSIHHIA SOOI 2 A HI 92,714
= 92,714
M THHZ2LIE E 104,001 0 104,001
= 86,667
Al 17,334
308 AHXIEHXI SO0l & 104,001 0 104,001
= 86,667
Al 17,334
01 AXSHMBAEXZ 104,001 0 104,001
METHHZLIHE (HESSHSEA) 104,001
= 86,667
Al 17,334
SSH0 M L (MEFSYF TH 20,608,539 24,156,960 N3,548,421
AUXE 1 SAsE 24 22
gl 22X 39 WA
HUXE 2. 2t =83 =48 S3E
SHAE SEX : 30 %
= 1,334,808
= 10,900,000
Al 8,373,731
SNMIRIST(SAZHUIAMY) 915,000 915,000 0
401 AIEHIZ 20| 915,000 915,000 0
01 Al&HI 915,000 915,000 0
AXITUE AISITEHOIAIE &tF L S&2 JH| 915,000
SNMESSX (YY) 1,600,000 81,241 1,518,759
= 800,000
Al 800,000
401 AEHIZL 2] 1,600,000 81,241 1,518,759
= 800,000
Al 800,000
01 Al&H| 1,600,000 81,241 1,518,759
Edd =2 =4 1,000,000
= 500,000




SN ZEMED
M MENE 25 U AM25 MHIA SH(SYHSSA/AY - AE)
CHolr EEHO AL YL MESY Xk (e & &
= PG ==
SN B H2A(S) - HIRA | &t Ol & o8 Hluse
Al 500,000
ST 2EH =2 =4 600,000
& 300,000
Al 300,000
SMISST(XH) ,250,000 406,175 843,825
& 700,000
Al 550,000
403 XHXIEHHSA=01d ,250,000 406,175 843,825
= 700,000
Al 550,000
01 MUXIEHMAZE = ,250,000 406,175 843,825
S4E HHIALY 850,000
& 500,000
Al 350,000
S7 fHMH=Z =4 400,000
= 200,000
Al 200,000
MEFAANE =4 30,960 30,420 540
201 et 19,960 23,920 A3,960
01 AtR2teld] 19,960 23,920 A3,960
Nosde =4 N2
0,000& 142 »23| 1,960
MESS A2 B2 A 18,000
202 O4dl 10,000 5,500 4,500
01 S 2,000 2,000 0
MEFAALE T4 HIXI0H 2,000
04 =XIsodbl 8,000 3,500 4,500
=RAE S4dster ofeldl 8,000
203 ¥ =& 1,000 1,000 0
03 AMH=THRFAH| 1,000 1,000 0
MEset 24 5 F4 1,000
Stu= =4 450,000 270,000 180,000
= 300,000
Al 150,000
403 XXM SA201H 450,000 270,000 180,000
= 300,000
Al 150,000
01 MHXSHMAEEE 450,000 270,000 180,000
stil= &4 450,000
= 300,000
Al 150,000
HsdW EXN S 326,580 283,125 43,455
= 228,606
Al 97,974




SN ZEMYD
Mo MK 25 U MEDS MUIA BH(SEHSSA/AY - ME
CHl: SN0 MEBE Y MUY XM (cHel @
_ _ PSEN=
SA-ZH - S2A(3AH) - MEAME - HES Off &+ o4 Ofl At ot Blusz
401 AlEHIL2OHH] 326,580 283,125 43,455
= 228,606
Al 97.974
01 Al&H] 326,580 283,125 43,455
HETW FaX =2 326,580
= 228,606
Al 97.974
HE=d 85,999 85,999 0
= 76,202
Al 9,797
403 XHXI A S =0l H 85,999 85,999 0
= 76,202
Al 9,797
01 AXESHI2LEE 85,999 85,999 0
HE=e 85,999
= 76,202
Al 9,797
Tg4+28 U 42y TH(2F) 4,700,000 10,500,000 A5,800,000
= 4,000,000
Al 700,000
401 Al EHIL 2Ot 4,700,000 10,500,000 A5,800,000
= 4,000,000
Al 700,000
01 Al 4,270,000 10,150,000 5,880,000
Het+=2 =48 ALl 3,570,000
2 3,570,000
% MPEE 3,300,008 g5 0
HeU+2e =8 2X LA 700,000
02 22l 400,000 300,000 100,000
Hedsse =4 22/l 400,000
3 400,000
03 Al&S0HHI 30,000 50,000 A20,000
He+=e =4 A2 30,000
3 30,000
XA SNz Z8(X) 10,000,000 9,800,000 200,000
= 5,000,000
Al 5,000,000
403 XHXISHHIS 01T 10,000,000 9,800,000 200,000
& 5,000,000
Al 5,000,000
01 AXESHI2LEE 10,000,000 9,800,000 200,000
XA SAE =4 10,000,000
2 5,000,000
Al 5,000,000
XA MEl s TH(XR) 520,000 260,000 260,000




2N 22
/lla

HI: M A S (sHSSa/AY - ME)
CHel: EEHQ AR Y MUEY T4 (SHel: &)
_ = P e
SA-EFH - SA(SAH) - MREAY - BES Ofl &4 Ol Ak O Blus
2 400,000
Al 120,000
403 XXISHSKE0IH 520,000 260,000 260,000
2 400,000
Al 120,000
01 IXSHMII2LEE 520,000 260,000 260,000
A MEIE XA 520,000
& 400,000
Al 120,000
=M S HAY 730,000 600,000 130,000
2 730,000
401 Al&HI L= Y] 730,000 600,000 130,000
2 730,000
01 Al&ZH 730,000 600,000 130,000
SMETBAELAL 730,000
2 730,000
BHSABH (TS D)(JIEHIIE) 63,967 47,233 16,734
Pk 63,967 47,233 16,734
23 63,967 47,233 16,734
201 Yure gyl 22,984 18,544 4,440
01 A2 22lH 22,984 18,544 4,440
eI S 12,400
llEgesd S| 10,584
202 OdHl 36,783 25,689 11,094
01 3401t 36,783 25,689 11,004
2 BZ 0L 30,240
29| EX 0| 6.543
203 YREAY| 4,200 3,000 1,200
04 RARIY2ETH| 4,200 3,000 1,200
fAREYREAY| 4,200
NS (TS (SHMHYSL/LY - HE) 276,000 147,945 128,055
2EXE 276,000 147,945 128,055
2ENE 276,000 147,945 128,055
311 XIS 0IXrar e 276,000 147,945 128,055
03 S328II XL 20/ X4 & 276,000 147,945 128,055
H2U+=22 =4 (20124 8) 276,000
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